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SECTION-1 | HINDI KNOWLEDGE & WRITING ABILITY | 60 QUESTIONS

Ql i §i¥we & ura &, I8 HEd &

(A) 3HAH

(B) g
() gom 5-,.-
(D) 3rcies _

Q2  IAEX @ IIHY gadl WGl BT DEd &
(A) TenfRfaard
(B) aneviam)
(C) Argara)
(D) 3awarst

Q3 YA & I=X B WAFHN TEAATH PN HET WA B
(A) IETHaeT
(B) YRIcieddeen
(C) Facaume

(D) A

Q4 T W P TR IO F FAFRT & 2?
(A) o
(B) & &1 wredl
(C) BHBH

(D) fawar e
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Q5

Q6

Q7

Q8

T o P91 Y& Sw H1 anrell 98 &7
(A) &rar
B) oS

(C) TsI

08890202

(D) o1 g3

g W BT IR TS DI wwrErRl T8 8?
(A) |

(B) Al

(C) &

D) T

fopar & arerrar s @ foir @ aR 5w wl @ Wy uRafdw 8 &7
(A) fasor
(B) fagy
(C) BRD

(D) faga sram

FEr @ Wit @ fa & fog @ fear o 82
(A) @tar & 3 # F T £

(B) @Yar & 3d # I e 8 |

(C) ®rar & Tgal Wi TR |

(D) ®a1 B YBA HET T € |
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Q9 HA wex @ foim T B?
(A) gfei
(B) wAiferT
(C) TgaPietT
(D) SvgfeT

Q10 IUaTE P BISHY quiHHT @ IHeRT B W b i i 8y &2

(A) gfesT
(B) wiferT
(C) TgEpiciT 3
(D) SwafeT g

Q1 & & @ wr yfeein v wifer vreg ¥ youg & & a1 87
(A) w&fT
(B) g
(C) e

(D) farR

Q12 &= % fbaw 9=« 81 87
(A) &1
(B) @
(C) IR

(D) dig
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Q13 "H =ach o 1" # W @1 agag @1 BIY

(A) &H
(B) @5

(C) 4

(D) w4

Ql4 IPRIA W & &1 dgay+ a=1d awa a7 fHar wen &7
(A) 3ifcm R & arg 9r @ 2a &)
(B) 3ife WY &) 8T &Y 4 97 <9 &
(C) ' @ 8@ P A ¥R & qe A @ ¥

(D) ' B @ IS IfH TR B a1 WA @ <A F

Q15 &=l # gwMIe a9 Il &1 9gaa a9 @ forg Wi 5w A & werg @ o
&
(A) o=t
(B) 3!
(€) et
(D) 95

Sl A Bt § FoRT Ff_’—*ﬂ " wIRe § oferd &= fhorda &
5d Bl 3§ BT PR &7
(A) 39TH
(B) ®U&H
(C) a9&

(D) &9
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Q17 Hielr a1 |41, B 7 A B B |
Y DI FADI SIN &, FF DI ATDT BV |

9 98 H P-4 PR &7

(A) ®UD

(B) U

(C) SuAT

1765880

(D) g9%

2

Q18 ‘&g &) W1 ggHaTe G|l Bl DR Fad B
39 Sfdd ¥ wgad o e &1 & A} 'Y
(A) #9Ed
(B) T
(C) Hepd

(D) FEA

Q19 M a9 a¢ a9 aoa] 98 B | ¥D i 9 T wuA Rd 79E W |
39 Ffaar B T Gfdw § DT AABR 87
(A) 3y
(B) wU®H
(C) a9

(D) Ieem

Q20 ‘PR H DA HATH 87
(A) ooy
(B) 3radmma
(C) gdgd

(D) fag
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Q21

qagd AR H D1 UG T B 27
(A) qd ug

(B) I&R U<

(C) BFI 9g W

(D) &8 ATHYU ye U

Wiaa @1 wel ui-fese @
(A) | + sfd

20045880

B) 9 + Sfa
(C) 4 + 3
D) 9§ + fas

R BT el wO-fawg &
(A) T+ T
(B) X + 9
(C) 7 + ¥

(D) R + 9

g’ F1 wd dR-fRwy &
(A) @ + U
(B) T4 + vq
(C) ™ + U@

(D) @ + &9
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Q25

Q26

AR BT dol "o &

(A) Jfer™r + 9r
(B) 3 + ATAR
(C) 3f + smar

(D) 3T + IR

s’ & wel WR-fawy &
(A) 79 + §F

(B) il + g

(C) 71 + s

(D) F@l + @

Tod’ @ vel gi-fawy &
(A) 8¢ + vaa
(B) 99 +
(C) SS9 + a¢l

(D) 99 + Saa

Q28 ‘Rray @1 wel wi-fawe &
(A) f&m + apaR
| ®) R + o
€) % + 3z
(D) & + apax
|
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Q29 'Sceia &1 Wel wi-fwT &
(A) Sd + d9H
(B) I + W
(C) S + &g+

(D) T + e

Q30 fr=ifefaa & & ¥g ar9w &1 987 AR 2
A) T TE T @ P e T o
(B) 41t UH Wi A @I Al & Wi 8
(C) a1el Y& W | & A1 A B )

(D) &Te U WA A ST BT IATHT a5 B |

Q31 frafafea # & gg a@g &1 957 BT |
(A) FUaT F@ Gl T |
®) P G 4 A A U AN
(©) Fuar gt 4 <)
(D) P91 o% GA T 3 B Fr BN

Q32 fmfofua 3 A gg T &1 93 AR
(A) fafSan 5 gwre= e < g T |
®) fufdan geres dfal T g 18|
(C) fafdar g=me= dra g g faw |
(D) fafEar g via < 97 g
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Q33 fy=folRed # & gg ag &1 99w i
(A) ARa ¥ FegF—2 o fag &)
(B) W A dgdUF—2 cif=a & 2|
(C) WRE 3 dga—2 dia f&y &1

(D) AR A HgaH—2 g fear 81

Q34 fr=ifeied # § gg ar@g &1 99+ HIfig)
(A) @l &1 YOS U A O 8T o |
(B) ar@l & us gt A AR X8 o |
(C) TwT@l &1 oS U H R I o
(D) awrEl @1 gus Ui H A o)

Q35 fr=ifefeaa % & g& g &1 939 HR)
(A) et & wifal | e 3 ol 8
(B) el @ wivat & Riamgar 2t ot €1
(€) ARl & gt A Riargdi & o &
(D) Ffeat & urh & e @1 aRh &)

fO6SGELZ

Q36 ‘et g HETaY B Sugad i &
(A) 5 3 <l @1 ang# # uRaftia s
B) amed o e
(C) 3BT waER T
(D) 3f3m 37 | el &1 ufiwy a5
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Q37 ‘3@ QAT HETaY B wel el
(A) S BF
(B) 99 #H USAT
(C) aife f=fhvr
(D) WSS §X &I

89655502

Q38 w1 % <R # S’ wdifaT B Uy I &
(A) HEE TND HGE B SHIG HIAT
(B) SUFBER ¥ IUBN @) g1 @l Hel GII]
(C) 9o @ Faal YA BT

(D) &€ HedN WIUHR HET

Q39 ‘fowr aad JERT P B Sugdd e
(A) 3T ATHYTH &) YLETE T HAT
(B) W&l S8l B @8l Soirell e
(C) TR T BT & @
(D) e & T &1 9 <@ Ul

Q40 ‘I | i WoR W EEr A B SugE e @
(A) AEIF-HaE B
(B) U 71§ qHEd H ISl
(C) H¥irga & e
(D) F¥Ea # fat @1 e fer
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Q41 ‘fF IR e HETaN FT Sugdd 3
(A) et @l &1 w8
(B) ga- & a9l
(C) @i gan freh awg &1 AR B
(D) &1 UR S H JH BT

Q42 ‘ByUar = o1 RAam &
(A) B
(B) fowdr

(C) HHdd

20515968

(D) T9R

Q43 @it W &1 fadm &
(A) 9358
(B) sadid
(C) &

(D) ux=EH

Q44 T & H Ao ®

(A) TR
(B) fazm
(C) 3mufa

(D) et
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Q45

Q46

Q47

Q48

R v @1 faen &
(A) =&
(B) NI
(C) &fror

(D) uciel

W seg BT fAem &

(A) e
(B) ¥awq
(C) e+
(D) Fgw

=t e 1 Rem &

(A) w&w Hif
(B) gawi
(C) 3wt

(D) Fwm

g v &1 faam &
(A) W

(B) THva

(C) warsT

(D)

P-KS-2
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Q49

Q50

Q51

Q52

fr=fafas 3§ & SF—w v B &1 wuihan T8 87
(A) g
(B) 3raern
(C) iR
D) afz

fr=ferfean & @F—wr e 9ed’ 1 w@igarE T8 8?
(A) widg
(B) @ aw
(C) u

(D) &%

frefafaa § &4 F-—wr & ‘F9a @1 vatgard T8 87
(A) AR
(B) Seyel
(C) arfa=g
(D) aRke

frafafaa # @ IF-—w v @' & vaigard T8 87
(A) feTa
B) feamw
(C) fRmaw

(D) ¥

21515968
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351
el
H
a9
(=)
N

Q53

Q54

Q55

Q56

fFr=feflae & & @91 e Aol @1 ugtaar 58 &2
(A) afsd

(B) el

(C) Wit

(D) ==

feiforRed % Q SF—wr e g4 @ yataarE =8 82
(A) e
(B) 3
(C) "a

(D) ¥R

freforias § & @F—wr s ‘oite’ &1 gafrar) & 87
(A) 3y

(B) 74

(€) g7

(D) g7y

fFrafaftaa # § o v aem =8 82
(A) °d

(B) &I

(C) amrg

(D) WIA[A

P-KS-2 16
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Q57

Q58

Q59

Q60

fr=fafen 4 @ @9 W ve acm =8 22
(A) &
(B) Wi
(©€) @
(D) g

Frefoiaa & & a1 & v g T8 27
(A) 3=
(B) g9
(©) g7
D) W

frefafea § 9 19 w1 v aom 78 37
(A) 78
B) T4
(C) &
(D) @

frfefaa # & @ wr v aga & &2
(A) =¥t

(B) S

(C) =aen

(D) =@

P-KS-2 17
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SECTION-2 | GENERALAPTITUDE TEST | 30 QUESTIONS

Q61 Inacertain code language, MILLION is
written as IMLLOIN. How will HILTON
be written as in that code language?

(A) IHLOTN
(B) IHTLNO
(C) HILNOT
(D) HILONT

Q62 In a certain code language, CLOCK is
written as KCOLC. When RAMESHA is
written as in that code language, what will
be the first and last letters of that word?
(A) R,A
(B) A,R
(C) M, S
(D) A,M

Q63 Inacertain code language, ‘A’ is coded
as‘2’, ‘B’ iscoded as ‘4’ and ‘C” is coded
as ‘6’. Which word will be coded as
‘1210108’ as in that code language?

(A) FEED

(B) DEER

(C) DEEP

(D) DOOR
P-KS-2

LrZyviie

18

Q61

Q62

Q63

v fifea @ s #, MILLION &1
IMLLOIN & %u # foran oirar 8 | St
e W11 3 HILTON @1 @ foran smgen?
(A) THLOTN
(B) THTLNO
(C) HILNOT
(D) HILONT

v ffaa @e Wt #, CLOCK &1
KCOLC & %u 3 ferar mar | <@
RAMESHA @1 S fAf¥=a ae wmar 3
foran Wiy @t ¢ v @ use 3w 3w
HER HHY: FT BAI?

(A) R,A

(B) AR

(C) M, S

(D) A,M

v fAf¥ad oe W ¥, A @ 2D HY
# pifea far oar 2, B’ @1 47 3R C
® ‘6’ D BY F @ifea fbar a2
frafofea § & fow e & 9@ 32
wier § “1210108° & w0 # Pifsa fhar
QY

(A) FEED

(B) DEER

(C) DEEP

(D) DOOR
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Q64

Q65

Q66

In a certain code language, INDUS is
coded as 03865 and TENNIS is coded
as 243305. How will STUDENT be
coded as in that code language?

(A) 2568234

(B) 6548342

(C) 5268432

(D) 2856283

In a certain code language, THEN is
written as RLBS. Which word will be
written as AEPJ in that code language?
(A) CGDE

(B) CEAS

(C) SGHE

(D) CASE

Each of the letters below has been assigned
a unique number. Select the combination
of numbers such that the corresponding
letters when arranged accordingly will form
ameaningful word.
RUSGA
13§79

(A) 7,9,5,3,1
(B) 5,3,7,9,1
(C)9,5171,3
(D) 1,9,7,3,5

\PZ99012
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Q64

Q65

Q66

% (Af¥em @2 9 #, INDUS &1 03865
& WY ¥ forr mar @ 3R TENNIS &
243305 % w9 # foran siran 81 9+ @
#1941 § STUDENT &' fbe wu # foran
SATQT?

(A) 2568234

(B) 6548342

(C) 5268432

(D) 2856283

& fAf¥e @e W #, THEN @Y RLBS
& w9 & foran e 2 | Frafafe 3§ @
feher v @1 S e AT AEP) @ w9
¥ forar smom?

(A) CGDE

(B) CEAS

(C) SGHE

(D) CASE

R Ry 17 TS AR B (@ I
e rafea i T ¥ | weawl @ wawee
BT I T IPR § B B 919 3wy
qv e fBy oY o we syt
Y& 99 WY |

RUSGA

1138779

(A) 7,9,5,3,1

(B) 5,3,7.9,1

(C) 9,5,7,1,3

(D) 1,9,7,3,5
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Q67

Q68

Select the word that can be formed using
the letters of the given word only as many
times as the letters have been used in the
word.

ALBCILANOTORO

(A) COLLABORATION

(B) COLOURFULNESS

LwZySe0e

(C) LOCOMOTE
(D) LOCOMOTIVE

From the following letters, select the sixth
and fourteenth letters from your right and
select the fifth and twentieth letter from
your left and form a meaningful word.
ABCDEFGHIJKLMNOP
QRSTUVWXYZ

Which of the following options is correct
regarding that word?

(A) No word can be formed.

(B) More than one w;)rd can be formed.
(C) Eis the first letter of that word.

(D) M is the first letter of that word.

P-KS-2 20

Q67 BH W& & 949 BN o 37 7Y Ry

&1 SYAIT D a1 G FWhaT & 3R
Ry Ty 3Rl &1 SUEET S & R
fopar ol R R S Syan fhar
T B

ALBCILANOTORO

(A) COLLABORATION

(B) COLOURFULNESS

(C) LOCOMOTE

(D) LOCOMOTIVE

Preferfaa sext 3 W A ovH I @
B0 3N diged Rt o1 wuE H AR
9 AT & urad S ed HeRt & v
T IR @ S gE a T |
ABCDEFGHIJKLMNOP
QRSTUVWXYZ

T aret W & Way A Frefafed 49
& o e wdl 87

(A) B weg TE 7w |

B) & W fRF y& 77 Fha 8 |

(C) T4 W& T Ugenl 3R E B |

(D) TH ¥ BT Ugell MR M B |
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Q69

Q70

Form a meaningful word with the third,
fourth, fifth, seventh and tenth letters of
the word ‘PERSONALITY". What is the
last letter of that word?

(A) R

(B) A

T

(D) S

Select the fourth, seventh, eleventh and
thirteenth letters of the word

‘CATEGORISATION® to form
meaningful word(s).

If only one word can be formed, then
select the third letter of that word as the
answer. If more than one word can be
formed, then select M as the answer. If
no such word can be formed, then select
X as the answer.

(A) G

(B) S

(C)M

D) X

P-KS-2
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Q69

Q70

‘PERSONALITY’ & & Wi, 9, iad
W 3l awd 3ieRl &1 U |1 SuhnT
D Up aris e 31 A #Y ) 9w
sré @1 ifom aEw . 87

(A) R

(B) A

©T

(D) S

wefe g /oesl & g @ fag
‘CATEGORISATION’ ¥1& & €1, e,
REd 3R TvEd SERT BT 9uT B |
aft Dad (@ & 97 WhaT B, A IR
@ WY ¥ O | B AN &R BT TG
Y | 9% U 9 Al o 79 waa €, @
SN @ 69 M B g | iR T P
vz T8 @1 T W 8, < X B 9w
& w9 g |

(A) G

(B) S

(C) M

(D) X
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Q71 Select the number that can replace the (?)
in the following series.
3% 2756,11,7
(A) 6
(B) 10
© 8
(D) 4
Q72 Select the number that can replace the (?)
in the following series.
29,23,18, 14,7
(A) 12
(B) 10
(C) 1
(D) 9
Q73 Select the number that can replace the (?)
in the following series.
240, 7, 120, 40, 10, 2
(A) 240
(B) 320
(C) 420
(D) 580
Q74 Select the letter-cluster that can replace
the (?) in the following series.
DEB,IJGNOL,?,XVY
(A) STO
(B) RSP
(€)STQ

(D) RSQ

P-KS-2 22

Q71

Q72

Q73

21104241

Q74

faferfRecT siwen 3 (2) @t wrre wfowenfie
B |HT arell HEAT BT 9aT DY |
3.2,7.60H,2

(A) 6

(B) 10

(C) 8

(D) 4

Freferfae sj@an # (7) @t we uRrenfia
B HHA qrell AT & qaT BN |
29,23, 18, 14, ?

(A) 12

(B) 10

(©) 1

(D) 9

Frferfaa sjeern % (2) @ wre uftrenfia
B P qTell G&AT T I DY |

240, 2, 120, 40, 10, 2

(A) 240

(B) 320

(C) 420

(D) 580

Fr=fafea saer § 99 sER—wE @
TG &N 1 (?) BT I I9GTd WY F o
@ |

DEB,IJGNOL,?,XVY

(A) STO

(B) RSP

(C)STQ

(D) RSQ
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Q75

Q76

Select the option that when sequentially

placed in the blanks of the given series will
complete the series.
C-3/B-5,G-T1-9__¢s .
(A) K-11,M-13

(B) O-15, X -24

(C)M-18, K-14

(D) X-24,M-21

Read the given statement and conclusions
carefully and decide which of the
conclusions logically follow(s) from the
statement.

Statement:

There is a general protest from the
inhabitants of a certain area that the report
submitted on riots in that area has been
fabricated based on prejudices and
commission has not presented the whole

event.

Conclusions:

. Another inquiry commission should
be sent for proper investigation.

1. The members of the commission
should be severely punished.

[ll. The next commission should
consist of inhabitants of that
area only.

(A) Both conclusion I and 11 follow.

(B) Both conclusion Il and III follow.

(C) All ofthe conclusions follow.

(D) None of the conclusion follow.

P-KS-2
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Q75

Q76

91 et &1 9aw & o Frafofea
siwen ¥ Raer w7 w erafter 5 ot
a1 A 39 H@en B Pl &R |
C=3:B-5,08-70+%__5_
(A)K-11,M-13

(B) O-15,X-24
(C)M-18,K-14

(D) X -24,M-21

Ara Ry v Fu iR frepd & e 9§
ug iR fvfa o 6 a9 a1 fFrepd sve
BT dife E W IFERT Fal & |

DY

frdh Ry &= & Fafal 3 am oy
XA g wE & 99 &7 0 < W ouwga
Ruié 3 qaiuel & AR W FEEd Y
/A wega far man & sl i A gl
weAT & favor T8 faar 21

forsp:

1. S aim @ forg 1 gav @i
A e faar s afdg

Il M & Hal & $6 9 B
| e AfRy |

11, 3Pt wnfd ke § @ad 99 83
& Fafal o wite e s
1Ry |

(A) Fresd [ 3R 11 QT s o &)

B) fresd 11 3fw 111 ST 3FgEReT HRa
gl

(C) Wit frend R & &)

(D) B¢ W Fred srgeror 78 Fvar &)
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Q77 Consider the given statement and decide

which of the given assumptions is implicit

in the statement.

Statement:
For the efficient preparation of current

affairs, one should daily take notes from

the newspaper.

Assumptions:

I.  Current affairs could not be prepared
for efficiently without newspapers.

1. Making daily current affair notes help
in efficient preparation.

(A) Onlyassumption I is implicit.

(B) Onlyassumption Il is implicit.

(C) Either assumption l or Il is implicit.

(D) Neither assumption I nor IT is implicit.

P-KS-2
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Q77 a&f f2y v o= g3 faw & 3k Aoy

o & wega anvmi ¥ | @9 sy 3
ffee 21

HUT:
e i (@ve smhad) @ gud
Far @ forg Ao srEEAR | Aew
IRy |

ETROTH:

. w9ER w6 @ I e Ay
(#¥e adud) @ TN Huear &
Rile B A o

[l ST He oy & Aled a1 A
e avE A T A e faerdh &)

(A) R aron | Huw § AR 2)

B) 4% aron 11 Fu= i Afke 2

(C) arar awrom 1 47 11 T ¥ Afta 8

(D) = @t e 3R 7 & 11w ¥
fafea &1
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Q78 Consider the given paragraph and decide

which of the given assumptions in the
options is implicit in the paragraph.
The school, which used to provide free
breakfast to ensure that the students
receive at least one proper meal a day,
stopped the facility from January as the
charitable society that used to fund the
breakfast withdrew support due to drop
in donations.
(A) The students may not receive any
proper meal from January.

(B) In furture the donations to the

20744241

charitable society may further
decrease.

(C) The donations received by the
charitable society are used for social
welfare.

(D) The familes either do not have the
ability of provide proper meals to
their children or they are ignorant of

what a proper meal is.
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Q78 fRy TV T W AR ¥ v fvly o

fos faaedt # <Y 7 srwrameit 4 @ @ @

FgmT ¥ At &)

% fagarerd, it g sear e avar

o1 @ifé B B wRfRE 79 A 79w

TR SfEe w9 | NG HoE g 8,

Al § 39 g o1 93 o Rar w=iife

AReq Wrargdt S guET yay wed of

SR Wi B A a # e E |

(A) BT BT TS F P Uivs e
& i wwar &)

B) “fw # aRas wwEd @ Ry
MY & # 3R @0 3 " 2

(€) ARTa WrEdt gRT W 7F @
Sy wrEfre weamr & g faar
ST & |

(D) 9RaRT & ure a1 a7 A9 @) By
IS HIGH UI B B & T8
& A1 T 3 91 W e & o
AT = B
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Q79 Read the following paragraph.

The importance of education and learning

has been recognised since the beginning of

time. Education means o lot in a person’s

life as it enhances learning, knowledge and

skill. Education must be given more

importance than other target as it is the main

thing which shapes one’s career. Education

has a lot of advantages. Education is very

good tool that benefits everyone throughout

their lives.

Which of the following options is NOT one

of the advantages of education?

(A) Education makes a person capable
of standing strong in the society.

(B) Every person has the right to
education.

(C) Itbrings a feeling of equality among
all people in the society.

(D) It makes people strong mentally,

socially and intellectually.

P-KS-2
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g 9 8 e ik Rem & w'a @1
el ) 1 2| e afda @ ofe 3
e @1 aga & SRl A € ife g
FIH TH R PR B G B
e o1 e cea 9 gorm A Rew @
It we faar s @Ry «ifs ad
ELIR (B e B i o i D |G
fyear 21 Rer @ 9ga v &) Ren
U qgd Il WEd & 9 it @ o
Sftast # crarfeaa @ear &)
freiferRaa 9 & @9 w1 e Rer @
il A | UE T 87
(A) Ren =fdd &) warer # g a7
¥ wEm g &)
(B) s aafd @1 e o sfer 8
(C) u& wrel @ ¥l drY ¥ |
B WG AT B
(D) =& AT B AERa®, A iR

difg® 7§ gy 99 8
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Q80 Five words have been given, out of which

Q81

Q82

four are alike is some manner and one is

different.

Select the odd one.

Satellite, Star, Sun, Earth, Universe
(A) Universe

(B) Earth

(C) Satellite

(D) Star

Five words have been given, out of which
four are alike in some manner and one is
different.

Select the odd one.

Mongoose, Beaver, Porcupine, Rat,
Guinea pig

(A) Beaver

(B) Guineapig

(C) Mongoose

(D) Rat

Five words have been given, out of which
four are alike in some manner and one is
different.

Select the odd one.

Dollar, Cortes, Dirham, Lempira, Taka
(A) Cortes

(B) Lempira

(C) Dollar

(D) Taka

P-KS-2
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Q80 1 dfa wre faw 71y &, R 9 9w faseh

a1 5 vaRr @ @ e § ik e
1 farer &)

=1 @1 TaT B

SuUE, T, g4, ued), gens

(A) wEwis

®)

(C) Suws

(D) R

Q81 et uia we Ry 1y &, foret < = fsel)
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Q82

1 el woR | 1@ wnre € AR v g
=1 2

=1 @1 Tam o

(A) Fefdem

B) Rt

(C) =¥aer

(D) Z@r

7gt der s faw 17 &, R & 9w s
1 el w3 U@ wHE € iR ua gt
=1 21
=1 @1 Tga &)
(A) ®EwH
B) it
(C) Sfer
(D) @1
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Q83

Q84

Q85

Five words have been given, out of which
four are alike in some manner and one is
different.

Select the odd one.

Cataract, Cellulitis, Glaucoma.
Hypermetropia, Trachoma

(A) Hypermetropia

(B) Trachoma

(C) Cataract/Glaucoma

(D) Cellulitis

Five words have been given, out of which
four are alike in some manner and one is
different.

Select the odd one.

Ear, Leg, Heart, Kidney, Hand

(A) Leg

(B) Ear

(C) Heart

(D) Hand

In a class of 100 students for a social
activity, 50 liked to go for tree planting and
70 liked to go for cleanliness drive. 10
students did not like either. How many liked
both?

(A) 12

(B) 25

(C) 30

(D) 15

P-KS-2
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Q83

Q84

Q85

gel g we fy v € 5 @ AR
faret =1 f5st v & e waE § 3R
ua g B 8

= @1 99 |

qNfaafig, sifRE-verE, @,
BIRRAG I,

Sl

(A) sEERHSIE

(B) S

(C) wfvafig / e

(D) BIRH-UGTE

el g e Ry v & s § Wr
farl =7 fplt waR | U wHE € 3R
s 3 A R

=1 @1 TTe

(A) T

(B) @

(C) &4

(D) &

e arifuie s @ fag 100 E @
e H ¥ 509 U3 @R @ faw wEn
qdg far sl 70 3 W@ afae §
W P g1 Wi | 10 BEl & 37 o
BB W gHg e ;| SH WIS

sl B e vl A e fear
(A) 12
(B) 25
(C) 30
(D) 15
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Q86 Selectthe cube that CANNOT be formed 86 &% 571 (a8) 1 27 % 1 Feeferfae
Hiie & @Rl & Efy Aea (Bes)
by folding the given sheet along the lines.

PD A8 a1 T Tl |
e N L 1
=7

(A) " Fr
® ° (A) ..
(=7
(8) ‘-‘ e
° e (B) ies
C ’.'. 1
' .ll
(© o.o' (C) :o.'c
e o, =
(D) ! ®) ::.

Q87 A perosn is standing on Kelly’s Street with Q87 U& @fd dell Tie W Wl & IR sus
the shopping mall to his left. Where is point qE AR i A ¥ S Rufy @
‘" in relation to him? gy ¥ WIF ) el 27

(A) Inthe front

(B) Behind

(C) Tothe left

(D) Totheright
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Q88 Aperson is at the intersection of Town road

and Moon Drive. He drives towards the
north of Moon Drive, takes a left on the
second road and then takes a left on the
first road. Then he drives towards the east
on the second road, takes a right on the
first road, drives towards the west on the
first road and then stopes at the first
intersection. Which place is closest to his

new position?

(A) Park
(B) Play Ground
(C) Police Station

(D) Primary School

P-KS-2
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Q88 T3 WS 3R ¥ FIET b INR W UH

afdR Wl B | 98 79 $13T W SN B
IR FIET B &, THA TEH B I W
1§ 3% T &, Y v Swur et
UEell Wed IR 418 3} i & | fhy aw
TR JATaTel TE Hed WX gd @) 30
FIEd YT & 3R UESH WSh W QiR
e oiran 2, v ugel aFaTell Wed G
uReH # AR FIEa Fear & IR 3§
UEE AT SRS O BT 8 | B AT
I S 78 Rl & waw Pae 82
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Q89

Q90

Select the cube that CANNOT be formed

by folding the given sheet along the lines.

=

\ i

-
-

(A)

(B)

Y‘};'

L

©)

(D)

Select the option that is related to the first
term in the same way as the fourth term is
related to the second term.

CIRCLE: ?:: SPHERE : CUBE

(A) CORNERS

(B) RADIUS

(C) RING

(D) SQUARE

P-KS-2
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Q89 T¥ U (4gd) &1 au9 BN Wl freread

e ®1 @Rl & arfew ves wva @&

AT O Hadl & |

=

m) @

(A) !
I
o (@)
faat
(©) m

(D)

39 fadwey &1 9uF W W1 UEd U ©
&% ol WHR @ Wafta § forw yer |
=l Ug ¥R Ug W W )

gel: ? e uE

(A) fRT

(B) Frsar

(C) far

(D) @t
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Q91

Q92

Q93

SECTION-3| GENERAL KNOWLEDGE | 40 QUESTIONS

When was the Associated Chambers of
Commerce and Industry of Uttar Pradesh
founded?

(A) 1991

(B) 1994

(C) 1999

(D) 2001

The Uttar Pradesh Government’s ‘One
District-One Product’ scheme aims to
encourage in Uttar Pradesh.
(A) agricultural innovation

(B) digital wallet

(C) indigenous and specialised products

(D) computer knowledge

The Uttar Pradesh Government has signed
a Memordandum of Understanding
(MoU)with __ to promote khadi
apparel manufactured in the state under
the brand of *UP Khadi’ in the year 2018.
(A) Walmart
(B) Reliance
(C) Patanjali
(D) Amazon

LyeyeLoe
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Q91

Q92

Q93

IR Yo A R @ifrew ud San
wee (quram ) @ e e ad &
TE o

(A) 1991

(B) 1994

(C) 1999

(D) 2001

TR YU TR A 1@ Rier-va @
AT T A8, SR YU d @
WicaIfed & 2 |

(A) P TaTER

®) f3free dee

(C) ¥ 3iR fady Sere

(D) YR BT T

IR VoW WaR A af 2018 # gH
Q' e gis & aga wey ¥ A
WA THDAETIRG DI
wsiiar 9uE (MoU) W awer faar
gl

(A) areEe

®) R«

(C) weioreh

(D) ST
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Q94 There are __ Special Economic

Q95

Q96

Zones in the state of Uttar Pradesh.,
(A) 10
(B) 12
(C) 16
(D) 19

‘Krishi Kumb 2018’ was heldat
in Uttar Pradesh.

(A) Prayagraj (Allahabad)

204359638

(B) Bareilly
(C) Lucknow

(D) Gorakhpur

Kanya Sumangala Yojana was was

launched in Uttar Pradesh to promote

(A) employment opportunities for girls

(B) digital literacy for girls

(C) sports participation opportunities for
girls

(D) health and educational standard for

girls
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Q9 STRWSU v H _ fadw anffe

Q95

Q96

&3 fagamm &)
(A) 10
(B) 12
(C) 16
(D) 19
SERWRU H, W B w2018
&7 I R T o
(A) WITRIS (§TETaTe)
(B) aveit
(C) o@Ts
(D) vy
SR YT H _ F ¥OR g
T GHITET AT B Yo a g
ot |
(A) wrsfar & foag Jomd & s
(B) wrsfdal & forg f3forea wmmar
(C) wrefdar & forg e # wrfierd &
ITE
(D) wrsfdal & fow wawen vd
YOS AT
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Q97

Q98

Q99

Shabari Sankalp Abhiyan was launched in
Uttar Pradesh to

(A) eradicate proverty

(B) eradicate malnutrition

(C) eradicate unemployment

(D) eradicate illiteracy

The *Kishori Balika Yojna" proposes to
give balanced diet to the girls not going to
school for days in a year.
(A) 125
(B) 150
(C) 275

(D) 300

The state of Uttar Pradesh ranks
for availing benefits under the

Pradhan Mantri Kisan Samman Nidhi

Yojana (PM Kissan).

(A) first

(B) second

(C) third

(D) fourth

P-KS-2
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Q97

Q98

Q99

SER VRN H _ #q vEd ooy
fam & goand @ g 9|

(A) TE R

(B) U R HRA

(C) WIS §R YA

(D) FReRaT 7 A

) aiferer Ao, e H
&=t & forv fRgareg # suled 4 8 W
aefral a1 wgfea @R wer & @l
QB H B |

(A) 125

(B) 150

(C) 275

(D) 300

v HA e weE R e (PM
Kissan) & T&d T UKl &% & Hae H
I U Y D
21

(A) wEa

(B) a1

(C) draw

@) en

I "<
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Q100 is a dance-drama of semi historical

Q101 *Hardaul Katha’ are folk songs typical to

Q102 ]

Q103

tales and ballads traditional to the state of

Uttar Pradesh.
(A) Ghoomar
(B) Kalbelia
(C) Svanga
(D) Pulikali

which spreads over Uttar

Pradesh and Madhya Pradesh
(A) Mirzapur

(B) Bundelkhand

(C) Awadh

(D) Braj

is a popular monsoon
entertainment in Uttar Pradesh and Bihar.
(A) Jhoola
(B) Viraha
(C) Svanga
(D) Rasiya
India ranks _ in the world
production of pulses as on 2017-18.

(A) first

(B) second

(C) third

(D) fourth

P-KS-2
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., SR YWY T ¥ IRURS
g s st @ memia
AT &

(A) g

(B) drerdferr

(©) warr

(D) yfermfer

Q101 '&¥&re Hur, vy vy |

@ dieiia & 9 5 S wew v
yew § Bt gU €1

(A) favitgz

(B) daciEs

(C) ray

(D) st

Q102 SR WY U9 fAwR &1 aier @&

A T (D ABg TR &
(A) sfeir
(B) faxer
(C) w@rT
(D) ¥R

Q103 2017-18 & 3R, <Tei & Aaw Scargs

H WRA BT I B
(A) wEaT
B) ™
(C) T

(D) =T
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Q104 The Revolution has made India Q104 wifa § wra, fava &1 wed

the world’s largest producer of milk. 481 g SeIed Q¥ & AT |
(A) Green (A) sRa
(B) White (B) @
(C) Red ©)
(D) Blue (D) et

Q105 In 2019 which tea company launched the Q105 a¥ 2019 ¥, =g @ fFw S 7 ARa A

most expensive tea yet priced in India? arfl % Faw de 9 @ uewy 3 87
(A) TataTea (A) Trer &

(B) Teabox i (B) i

(C) Society Tea N (C) HramEer &

(D) Duncan’s Tea (D) &% &

Q106 Who among the follwoing became the Q106 S/arg 2019 % fr=fafaa § @ &4

Prime Minister of the United Kingdom in FgeS T @7 wur HA g T 87
July 2019? (A) oI &S

(A) Jeremy Hunt B) tft fir

(B) Ari Shapiro (C) afw g

(C) Boris Johnson (D) o1 H

(D) Theresa May
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Q107 Who among the following won the ‘Tour
De France’ 20197

(A) Geraint Thomas

2965£902

(B) Chris Froome
(C) Steven Kruijswijk

(D) Egan Bernal

Q108 Which nation hosted the 2019 World
Aquatics Championship?
(A) China
(B) South Korea
(C) Japan

(D) Russia

Q109 Which of the following is the most
populated city in India as on 2019?
(A) Kolkata
(B) Mumbai
(C) Bangalore

(D) Lucknow

Q110 In to how many component is GST
divided?
(A) One
(B) Two
(C) Three

(D) Four
P-KS-2 37

Q107 Fr=ifefRas 3 & @19 ‘23 < wiw' 2019

&1 faoiar 27

(A) SNe 9Hd

(B) fivw wm

(C) wra mefas
(D) 1 &

Q108 fvw wrsg | 2019 favg woaIST

wferifareli (@8 udfes AffggafRm)
BT HEr fobar or?

(A) 99

(B) =feror Hifkar

(C) ST

(D) &«

Q109 2019 & e, Frfaftaa % & w=a #

b ey @ T wan w87
(A) DicdTar

(B) Hag

(€) drge

(D) &S

Q110 g% Ud ¥ar &Y (Ghewd) &) e gl

i fonfom fear mar 82
(A) T&
(B) @
(C) =

D) ar
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Q111 The Registration of Birth and Death Act
came into force in the year
(A) 1964
(B) 1969
(C) 1972

(D) 1981

Q112 The Taxation Laws Amendment Act,

2017 replaced Clean Energy Cess with

(A) CleanAir Cess
(B) Environment Cess
(C) GST Compensation Cess

(D) Sustainability Compensation Cess

Q113 Which state in India has the highest urban
population as on 20197
(A) Tamil Nadu
(B) Guijarat
(C) West Bengal

(D) Maharashtra

Q114 Which was the first state of India to
introduce the Panchayati Raj?
(A) Gujarat
(B) Rajasthan
(C) Madhya Pradesh

(D) Tamil Nadu
P-KS-2
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Q111 =1 3R Jg & Yot &1 Afafram,
ay % @y, e T o

(A) 1964
(B) 1969
(C) 1972

(D) 1981

Q112 T S wae+ iffam, 2017 3

d W Holl SUBY B

yferenfa fear &1
(A) W=D BaT SYPY
(B) vaigweiiy IuaHv

(C) Sfiwwet (GST) whirgfdd wuenv

(D) Rerar wfagfd Suaw

Q113 2019 & ITER, ¥Ra & g o &

RNl ST Ay s
(A) afieag

(B) TomIa

(C) uf¥mw e

(D) HEwIS:

2

Q114 ¥ra ¥ 5w woa 3 v geEradr I

) goarTd Bl of?
(A) TR
(B) ISTReIT

(C) we wew
(D) afferrg
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A —r o o e dle A S e = e e AR g o e o B Nl s e A S,

Q115 ‘Economic Reservation in India’ was
passed by Amendment __ of the
Constitution.

(A) 101
(B) 102
(C) 103

(D) 104

Q116 When was the Constitution amended for
the first time?
(A) 1947
(B) 1951
(C) 1953
(D) 1957

Q117 Who among the following was the first
woman Sarpanch of a Gram Panchayat?
(A) Shahnaaz Khan
(B) Sushma Bhadu
(C) Chhavi Rajawat

(D) ArtiDevi

P-KS-2

QIIs WRwm & wuinm & wiRy Wi
W anfefe seror miRe faar rar 8
(A) 101
(B) 102
(C) 103
(D) 104

Q116 frw af # wfdew & weiw wduem

foam T «ar?
(A) 1947

N (B) 1951

3 (C) 1953
(D) 1957

Q117 F=felea % & @ oM Jard ) wdwem
Hfgar wvug &7
(A) W& @
(B) qwir wg
(C) ©fd wromaa
(D) 3t <
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Q118 India’s first digitalised Panchayat ward

was
(A) Kerala

(B) Maharashtra
(C) Gujarat

(D) Rajasthan

Q119 Which is the highest peak in the Western

Ghats?

(A) Anamudi

(B) Meesapulimala
(C) Masinagudi

(D) Vagamon

Q120 Which is the longest mountain range in the

lesser Himalayas?

(A) Dhauladhar range
(B) Mahabharat range
(C) PirPanjal range

(D) Shivalik range

QI21 are longitudinal valleys formed as

aresult of folding when Eurasian plates
and Indian plates collided.

(A) Ridges

(B) Ranges

(C) Craters

(D) Duns

P-KS-2
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Q118

e &1 Haue f8feet vam
arg 2|
(A) &
(B) HBRIE
(C) TorTT
(D) VoI

Q119 Fr=fafRaa 3 ) a9 W fawea, ofdgd

HIe &I Harey Rraw 87
(A) 3rTTEgSt

(B) #rayfemrer

(C) ARFmS!

(D) arTHE

Q120 F=ifeiRas % & dF—w ey, TR

Ql

21

fRarera & vda & way od) ydanmer 87
(A) SN TdaHTT

(B) HWEMRd uddwre

(C) YR GSTeT gdecHIeT

(D) Rafes ydamen

L wie U AR @i @
e W, s @ uRvmreey Hia
daqa =i |

(A) Reow

(B) ¥4

(C) ®ex

(D) &
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Q122 is the southern part of the ancient Q122 , 9T fAere e wETey (G

super continent Pangea with Angara Land dieHe) mr &1 gl wr @ o
in the northern part. Feer WA H sy 4 Rera 2

(A) Eurasian Plate % (A) ujf%rura‘ e

(B) Tethyssea g} (B) efore |R

(C) Indo-Australian plate (C) "R—sifeforag wie

(D) Gondwana land (D) MSq™T ‘Iﬁ?

Q123 One of the distinct features of the peninsular Q123 yragdiy el 9 (OR) @ US

plateau is the black soil area known as FAE fadwar, sl S o d= 8, W
e B |

(A) Chotanagpur plateau (A) BIEFFIYY TSR

(B) Deccan trap (B) T&H ¢U

(C) Singur plateau (C) ﬁf{[? JoN

(D) Rohtas plateau (D) ABaTH YBN

Q124 Chilika Lake, the largest salt water lake in Q124 fufeer s, anfewm won 3 Rem R

India in the state of Orissa, lies to the south &) Y 98 WR Ui o 3,
of the ; & cfirft aiw Rera &)

(A) Baitarani delta (A) ol ST

(B) Brahmanidelta (B) #TERvl ST

(C) Budhabalanga delta (C) TEaTT Sl

(D) Mahanadi delta (D) WErF<l Seer
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Q125 Lord Willian Bentinck, the Governor

Q125 ¥Rd & T+ el e fAferam aFe®

General of India passed a law in AT I gA aRAeg Ay
abolishing the custom of Sati. # @A wiiRa faar o)
(A) 1819 (A) 1819
(B) 1825 (B) 1825
(C) 1829 (C) 1829
(D) 1832 (D) 1832

Q126 In__ GuruGobind Singh convened (0315, R | 1% Mide Rig = CRAIEC]|
a general meeting of the Sikhs ar Anandpur feaw &1 areyR wiigq # Rt 1 9me
Sahib on Baisakhi day and laid the 0@ qarg o o e (3Er ufaE)
foundation of Khalsa (or the pure). @) A v off |
(A) 1679 (A) 1679
(B) 1684 u (B) 1684
(C) 1691 (C) 1691
(D) 1702 (D) 1702

Q127 Allan Octavian Hume, a retired English Q127 Ui affaeias ggn, T& dar-ge ids

ICS officer, formed the indian National ICS IRy = af # qRA
Union in AT Y @1 e [dar o
(A) 1862 (A) 1862
(B) 1876 (B) 1876
(C) 1884 (C) 1884
(D) 1891 (D) 1891
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Q130 In

Q128 The Gurmukhi paper called Swadesh

Sewak, which advocated social reforms
and also asked Indian troops to rise in
revolt against the British was brought out
by from Vancouver during the
freedom struggle.

(A) GD Kumar

(B) Tarak Nath Das

(C) Lala Hardayal

(D) AbhitSingh

Q129 Subhash Chandra Bose became the

President of the Congress Party in
(A) 1932
(B) 1938
(C) 1941
(D) 1943

the East India Company’s
ships defeated the Portuguese in.lhe Swally
estuary off Surat.

(A) 1609

(B) 1610

(C) 1612

(D) 1618
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Q128

Q129

Q130

ToHEl FF1Y, Wey Wad b AW W
vraferd o, R amifors uR &l weei
T st o s Ty & YR AR
A I B g RAge w31 3 70 A
g o, B WA AW D IRE Tepaw
¥ yenIfRra fbar wimar o)
(A) NS HHR
(B) ON& 1 &
(C) ST BXeaTd
(D) wfea fs
g g dr, af # i
gl & 3ieder 9 o |

(A) 1932

(B) 1938

(C) 1941

(D) 1943

A B U R el egerd A
germferal 1 ywifore far e

(A) 1609

(B) 1610

(C) 1612

(D) 1618
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ROUGH WORK /%% o1 & fao
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Read the following Instructions carefully :

fPrafafaa Adet &) ae | e

~

+ Out of the four alternatives for each question, only

one circle for the correct answer is to be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not liable

to be changed

The candidates should ensare that the Answer Sheet
is not folded. Do not make any stray marks on the
Answer Sheet. Do not write your Roll No, anywhere
else except in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care,
as under no circumstances (except for discrepancy in

Test Booklet), another set will be provided.

. The candidates will write the correct Test Booklet

10.

Series as given in the Test Booklet in the Attendance
Sheet

Each candidate must show on demand his / her Admit
Card to the Invigilator

No candidate, without special permission of the Center
Superintendent or Invigilator, should leave his / her
seat

The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty, Cases where a candidate has not
signed on the Attendance Sheet will be deemed not to
have handed over the Answer Sheet and dealt with as

an uniair means case

Use of Pencil/Electronic/Manual Calculator is
prohibited

'he candidates are governed by all Rules and
Regulations of the Commission with regard to their
conduct in the Examination Hall, All cases of unfair
means will be dealt with as per Rules and
Regulations of the Commission

After Examination is over, candidate has to return his
Answer Sheet to invigilator. Invigilutor will hand over
the Candidate’s copy to candidate, then only
candidate is allowed to leave the examination hall.
Candidate is only allowed to take Candidate’s copy of
answer sheet,

. Candidates are not allowed to take Test Booklet with

them. They have to submit the Test Booklet to the
Invigilator after the exam.
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10.

1L

Y ® 9 @ foie 3T 1) 5N fGwesai 4 9
HEl SR & U 3l vy, v 9 yEe Oy

&ac TP M & & T 118 I 916 yree
U9 ¥ R (& IR IR AHiHd [0 a9 @

q1¢ I 9 A8 W GEHar £

el gt #¢ A oW = @ A
T WY U9 99 R Fig 3= FeE S @md

qdemeff v smmwie W vEe R
Fenfe wm & aifoftery s = ford
W gRawT d SR A 1 argEe
wart &, ®ifE H0 N aRfRefy 4 @
qden gRas # &% 1 o8 ) gud odan
QiHl Ud TR IS SUGE T8 el
AT |

¥l giterat # ) T e g @
& el 98 T8 § suRufy uyme A
I |

U8 O Y edd gaemd], @er sradies @)
39T WA uH feamm |

INF 1 T IToES B A9y sy @
T a1 aferedt srger w9 B

PHIUNT T ARTED 3] IYAT TN 959 f2v
1 ol s W S8 e afe

ft gdtEmll 4 Sufefyy g o gwmR T8
By o a8 wEr Se @) S 9 UES
8 e & 3w ' afoa W &1 e
AT TG |

e/ goagifie / swrarfed yReas o1
o gftfa &

YRIET Bfc W ARy & fae gdeedt s 3
it Frandt gd R g Prafia 8 sefe
WA Wl wawil B e s @
et va fafyast @ sar g

GOET & SURRT el IR UHE T aradeE
1 oiter € aradlea g anaeff @ o
uEs Bl sl wfy /gt wfey s evd
ongef) e fras Suvia & &5 &) vied
gl & et | IR uE A apaeft oy
el 1 A wRr A Wi @ iy &

yden @ suvia wderefl ) wdan gl
&l =dEE ®) dter g f | e yRias
o el s Wy ol @ o wed )
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